N = 0 &8 AF S & Al A
201ME = 20a LESIH S AH D ~ SIAH
SAM: 3 A
M. M0 AKX A2 (LtE B /UL N)
chel o U BAHE 2 CrRL
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
S| A Bt 3,985,026 3,960,433 24,593
== 30,000
Al 3,955,026
SEXHO FHM2I A2 (LEt2 2SN /AU A ) 1,889,391 1,780,668 108,723
== 30,000
Al 1,859,391
o A SIHNE 2Z 172,758 159,214 13,544
INES=g 88, 108 88,108 0
201 B3| 62,200 62,200 0
01 AtR22tell 61,000 61,000 0
OdBt=2H| 37,000
SHE - HEZMH(2EME) SO
10,000, 000& 10,000
oX&Eatel dbtx2H| 27,000,000& 27,000
o2g+g 16,000,000& 16,000
O =&l 8,000,000& 8,000
02 ss29H| 1,200 1,200 0
OZ2Z22=2YHA 1,200,000& 1,200
202 (4| 22,908 22,908 0
01 2| 22,908 22,908 0
OZA=H 0N HI 22,908,000 22,908
203 PR =&l 3,000 3,000 0
03 AIHFRHRF=ZXY| 3,000 3,000 0
OZ &t ZAF HRFA 2,000,000& 2,000
O=RMat2e| RFX 1,000,000& 1,000
Herze 84,650 71,106 13,544
201 dEt23d| 53,000 51,000 2,000
01 At22teldl 17,000 15,000 2,000
Odet=2H| 15,000, 000& 15,000
O3 &l 2,000,000& 2,000
02 5294l 36,000 36,000 0
OZ2Z22=2YHA 6,000,000& 6,000
O Xt BHH| 30,000,000 30,000
207 A FoHed| 9,000 0 9,000
01 A3 E9H| 9,000 0 9,000
OSAH & 228 AN D=2 2Y
9,000,000& 9,000
301 2BEtEAZ 1,200 0 1,200
10 HAIAHIEAZ 1,200 0 1,200




A 2
M S AMeY Mot (LeSSHE/LBHE)
oF al
of

ton

&2 A 2 SANE 2¢ (etel: =3
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK '@,‘;OH Hlw &2
O2d2 XU It=E EIMA AdIE4
1,200,000& 1,200
402 RIZEXHE0I A 17,250 14,400 2,850
02 QIZHCHE ALY 17,250 14,400 2,850
OXXLYHI20 QAZAHl 14,400,008 14,400
O23REID2IEHI] 28 S/MNHXIE=H|
2,850,000 2,850
405 XHAHFE SHI 4,200 0 4,200
01 MaLSEFSH 4,200 0 4,200
OFXENIANAEY D= 4,200,000 4,200
2 ZRUN EEF 22 45,000 68,000 23,000
== 30,000
Al 15,000
= - BRM SEH 2tel 15,000 35,000 20,000
401 AlEHIL S THYI 15,000 35,000 £A20,000
01 Al&H 15,000 35,000 20,000
OAIHAPT TAIDIAAILE &X 15,000,0002! 15,000
[TIA 222 X 30,000 33,000 A3,000
== 30,000
201 Yer2g| 21,000 21,000 0
= 21,000
01 AF22+2/H] 21,000 21,000 0
O=3FMEAEN A L HEBHEIX
21,000,0002 21,000
== 21,000
202 Odtl 9,000 9,000 0
== 9,000
01 2LHoiHl 9,000 9,000 0
O=3SFMEAEN AL L HEHEEX
9,000,000 9,000
< 9,000
A AEE22 585 22| 1,671,633 1,553,454 118,179
HAA LS 22 914,133 709,454 204,679
207 A1OH | 13,000 0 13,000
02 &AL 13,000 0 13,000
OAIEBAL AISHOEH 2ZEYNH &
13,000,0002 13,000
307 QI2t0IA 566,333 638,454 AT2,121
05 QI2t2IE2 566,333 638,454 AT2,121
OFA 2IEt22] SAH(23 - B2 XF)
566,333,0002 566,333
401 Al&HI LS04I 315,000 71,000 244,000




A 2 A
A S0 SAM2LY M2 (LI IHH/UBHA)
= BA AIE=2 a8 2

SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 Al&H| 315,000 71,000 244,000
OAMEAM HUXIZSHEAS 100,000
oHAXZH LED WA 100,000,000 100,000
OFEMAE SRR & B+ 50,000,000& 50,000
OFA H2=)| =& Z WX L ti2FHl
20,000, 000& 20,000
OFA d2)| ¢ - ey 8 54
45,000,000& 45,000
OBAM JIEHH B (52) 100,000,000& 100,000
402 SI2H 201 19,800 0 19,800
02 QI2HCHEH AL HI 19,800 0 19,800
OFAM XSHO(IBS) FAZ=  19,800,000& 19,800
BANFXE = 757,500 844,000 286,500
201 Let2d| 705,000 785,000 80,000
01 AtE22(H] 65,000 65,000 0
Ogtt=EH| 65,000,000& 65,000
02 =234l 640,000 720,000 80,000
OZ332=LHA 540,000
©TTRB(WIIQZ, Ho4+EASE)
370,000, 000& 370,000
o XN YMHAE S H | 170,000, 000& 170,000
OA&EZHIS X 100,000,000 100,000
206 M=l 35,000 46,000 A 11,000
01 Mz bl 35,000 46,000 211,000
O&IIT & 5,000,000& 5,000
O3xJ 2H #¢ 10,000,000& 10,000
O3S dA-9E 1Y 1,000,000& 1,000
Od2E F2H, &zM 7 5,000, 000& 5,000
OJIAH &Yl X 5,000, 000& 5,000
OxEXM 7L 3,000, 000& 3,000
ods 02 ¢ 5,000,000& 5,000
O=xHMelAld GiE HUNM(2HE) 72
1,000,000& 1,000
405 KHeHESHI 17,500 13,000 4,500
01 XYL SSFSHI 17,500 13,000 4,500
O2At HIS Y 3,000,000& 3,000
OFA AARIt5 2 10,000,000& 10,000
OFAMZC| H&H+=2 0154 ==2H
4,500,000& 4,500
LS (3D (L BT /YY) 1,915, 180 1,963,765 48,585
NS 1,915,180 1,963,765 N48,585




A 2 A

I SRS (SHD) (LUBTHI /LB E)
tel: BEXE SR
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
FAAEDIZ 2 1,915,180 1,963,765 N48,585
311 X =0l Ak&f e 295,680 344,265 A48,585
05 XE&MHSHO0IAHae 295,680 344,265 248,585
OdEA HE 267,000,000& 267,000
osSEgEdHL M= 28,680,000& 28,680
601 XLz =4E 1,619,500 1,619,500 0
05 NgHsAZ=ae 1,619,500 1,619,500 0
O&EA HE 1,500,000,000& 1,500,000
OsSEEHL MF 119,500,000 119,500
=) 28 NWE (A8 =X /=) 100,000 150,000 250,000
S8s FArzel 100,000 150,000 250,000
SHs FArzel 100,000 150,000 A50,000
401 A &HIL 204 100,000 150,000 A50,000
01 Al&HI 99,100 148,920 249,820
SHSEM HE> FA22 99, 100,000& 99, 100
03 AIZ SR04 900 1,080 A 180
OSHSEA W2 X2
100,000, 000& *0.90% 900
Y2 ZHI (S HD)(IIEHIIEH 80,455 66,000 14,455
QAR A 14,455 0 14,455
eI 14,455 0 14,455
101 el 24| 14,455 0 14,455
03 RIIHAZIZXNE = 14,455 0 14,455
odgR (1Y) 14,455
=Jl=2g 34,9103 »1H #2492 8,693
cal= 8,693,000& *4/12 2,898
oRaSsdsrd 34,9103 x1H 52 1,816
o AL 2R+ 6,550 «1H +80Al 2t 524
oA=& 34,9102 x1H « 152 524
Jl23| 66,000 66,000 0
Jl=3d| 66,000 66,000 0
201 et 9,000 9,000 0
01 AR 22l 9,000 9,000 0
ogel=gHl 5,000,000& 5,000
O=&l 4,000,000& 4,000
202 O4Hl 52,800 52,800 0
01 =Wl 52,800 52,800 0
OZUHEHNH 200,000& #22H 123 52,800




S B
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el
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=2
e
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4,200

4,200

350,000 «12&

4,200
4,200

4,200




